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Y Recall frem last class, the oar’ﬂal derivetives of 7= ﬂx V) are
£y = JF *Fv - df
Ax dy

Hiqh&r Order Partial Derivabives aye <imilar 46 Higher Order

Devivatives (Lesson 13) from Applicd Cleuls T, The “main difference

5 that we can mix oarhala i, ¢ first do x then y or

Vice VErseo).

Notation/Definition: Tallmq the partial derivatives of

the Darhals fy and Py; wé have the Pa!lowinq second -

order oarhals
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Faol‘ While net true in generul but for the purpose of

e class , we have

?xv > Pyx

$o @ and @ in He definition ahove, can be comblined

Example |, Comzpuhi ‘HM_ second order parhal derivalives

@ w"(x,v) = Dx*? y + Axy >+ 3\/

First find Px and TQV

Px-lOXV +2y 1Py=’5x2+éxvz+ Gy

Next ind  FPxx Irxyv, and Fw via He detinibio
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Next Pind fxx., va,aneﬂ 1°yv via the definition.
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